INDIAN SCHOOL MUSCAT
FIRST PERIODIC TEST
HINDI SET A,B &C

CLASS: X Sub. Code: 085

24.4.2022 ANSWER KEY Max. Marks: 20

SET-A

Y311

1x6=6

Sia # 9T 3R 31Wd Agaqul @

TR H U & 99d 84 ol ©

W THER qAd &, Ug, AT 9 Ug, UTH & &l SISl

BT A3 908 BldR Waldha H 9RT o ol

el o ?

IS 9TT

Y32

2x2=4

e Bl Ugd FHY Ha™ &I gRITC, Dagel, Bedld 3R
AT & Woll dI I M IR g8l ST | $HfU
TTgH—2fdd BT UTeid el |

g 8 & R Y1, B 918 & N8 SH 9 TdhH
& fou, B W15 & Ay el g9+ aife a8 U8

931-3

1x3=3

HTIIRUT dTdg

EERCIE

TYId a1
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Y31—4

1x4=4

gred fER gy AR A/ o |

STd 9gd 991 gg a9 d1¢ 31 TS |

Ul H Hel dHR AT FAIY [T2TTT TET AT HPT |

RIS Yo Bl 6 99 W 8l U |

Y1-56

1x3=3

Sq H oOF oal & ad H A ot g | (s g H)

21 1 RIBRI BT <@l AN 98 A1 17| (A arad H)

TGP HelT H M ol UgM ol | (AR a1 H)

END OF ANSWER PAPER

SET-B

Y1—1

1x6=6

W H U B 99d 84 ol ©

W] THaR IodM @, Ug, AT 9 Ug, UM &I 81 SIS

BIC] ATy ¥qeoe Bl Woldha H 9NT o ol

Pl of ?

IS Y797

Siad # ST 3R 31gWd Agayul @

Y—2

2x2=4

IS B o e AT, BIc 918 &l IR O 9 dH
& foru, B 918 & forv eet 991 dife 98 ug |

MM DI Ugd AT HaH Bl gRATel, Badge], Bedld 3R
qTAETel & Woll dl ITg A UR g8l ST | gafery
cTg9—<fddl BT Ui el |
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Y313

1x3=3

s are

I a1

HIERYT didy

T4

1x4=4

STd §gd 91 gg a9 d1¢ 31 T |

Ul § Hl dHR AT FAIY [I2TTT TET AT HPT |

RIS Y Bl 6 99 W 8l Y |

gred fER gafelv AR A9 o |

Y315

1x3=3

20T 9 RGN BT <@ $AMAY a8 91T AT | (Wgad a1a H)

TP HelT H 3 ol UgM ol | (AR a1d H)

S H ud oIl g ad H a1 oftar &1 (s are )

END OF ANSWER PAPER

SET-C

Y1—1

1x6=6

W] THaR IodM @, Ug, AT 9 Ug, UM &I 81 SIS

BIC] ATy ¥qeoe Bl Woldha H 9NT o ol

Pl of ?

ST 9TeT

Siad # FHST 3R 3rgvd Aegwayul 2

TR H U & 99d 84 ol ©

Y—2

2x2=4
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MM BT Ugd FHI HaM Bl SRIATell, hadge], Bedld 3R
JrAdTe & Wl Bl ATE 3 TR d&l ST | SAflU
Tg9—<fdel BT Ui T8l |

g 8 & MR Y1 B 918 &I )18 o1 9 T
& fou, BIC w1S & AU aresl 9=+ arfe a8 us |

Y313

1x3=3

NECSECIC

HTIIRUT dTdg

s are

T4

1x4=4

Ul § Hl dHR AT FAIIY [T2TTT TET AT HPT |

RIS Y Bl 6 99 W 8l U |

giedl foR gafolv AR AT o |

ST9 9gd 97 g3 9 916 3T g |

qR1-56

1x3=3

S H od ol g ad H A ol &1 (s are )

feRo1 = RIGRT bl <@l $HGTY g8 9N 137 | (g a1 )

TP HelT H M ol UgM ol | (AR a1d H)

END OF ANSWER PAPER
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